DROSCAND

MANOMETER FITTING

8310-16

1

Part No.

83101617
83101616
83101615
83101618

www.hydroscand.lv

Product info
Product group
Type

Material

Connection 1
M 16 x2,0 FS
M16x1,5FS
M16x 1,5FS
M 16 x2,0 FS

14.05.2024

Straight
820
Fitting

Steel

Connection 2
M16x1,5M
M16x2,0M
M16x1,5M
M16x2,0M

Page: 1/1



